
Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  1/30/2014 8:11 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
424830 7 577848 Wire saw DS WS15 480V UL CSA assy  30.01.2014 USD / 350441 / * / G 1/9
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

1 276364 2 PC Clamping piece

2 276027 2 PC Palm grip M10X30

3 2053831 1 PC Protective sleeve PLASTIC

4 356649 1 PC Extractor clamp

5 356650 1 PC Retaining bolt

6 213228 2 PC Circlip 25X1.2FED-ST - PHOSPHAT.&GEÖLT

7 356641 1 PC Adhesive label SICHERHEIT und BELEGUNG

8 359780 2 PC Axle M16x1,5

9 2092344 2 PC Motor WS15 - 7,5 kW einzel

10 221334 8 PC Hex skt hd cap screw M8X5012.9 - A2K

11 356652 2 PC Boss

12 356653 4 PC Rotary shaft seal

13 356654 2 PC Flange

14 356655 2 PC Ball bearing

15 359767 1 PC Runner assy

16 2053617 2 PC Protector bar short LINKS

17 2053618 2 PC Protector bar short RECHTS

18 359768 2 PC Guide wheel 200mm assy

19 276024 10 PC Grooved ball bearing 25X47X12-RS6005-RS

20 276354 2 PC Rotary shaft seal AS25X47X7NBR

21 76037 8 PC Rotary shaft seal AS35X47X7NBR

22 356942 1 PC Axle

25 359769 1 PC Runner assy



Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  1/30/2014 8:11 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
424830 7 577848 Wire saw DS WS15 480V UL CSA assy  30.01.2014 USD / 350441 / * / G 2/9
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

26 356660 2 PC Clamping lever

27 356661 1 PC Roller set 200MM assy

28 356662 1 PC Axle

29 356663 2 PC Flange

30 356664 4 PC Screw

31 356665 2 PC Spacing ring

32 356666 2 PC Spacing ring

33 340620 3 PC Return pulley DS-WSWS200

34 356668 1 PC Roller set 280MM assy

35 356669 1 PC Axle

36 356670 3 PC Spacing ring

37 356671 2 PC Spacing ring

38 339316 4 PC Return pulley DS-WSWS280

40 356674 4 PC Wheel

42 356676 3 PC Switch

45 356644 1 PC Adhesive label BEDIENUNG

46 356678 1 PC Water cock

47 356679 1 PC Water cock assy

48 356680 1 PC Mesh sleeve

51 356683 1 PC Water cock assy

52 356684 1 PC Water cock assy

54 276352 40 PC Hex skt hd cap screw M8X108.8-A2K

58 359758 2 PC Circlip A50X2



Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  1/30/2014 8:11 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
424830 7 577848 Wire saw DS WS15 480V UL CSA assy  30.01.2014 USD / 350441 / * / G 3/9
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

74 356692 1 PC Pressure reducing valve

75 356686 1 PC Glass window assy

76 356687 2 PC Filter cartridge

78 221715 6 PC Grip

80 425114 1 PC Connector housing UL 480V

81 428220 1 PC Cable Motor UL/EU assy

82 425127 1 PC Cable UL assy

83 357155 3 PC Coupler G+K/IG/1/2"

84 356701 10 PC Seal GK

86 425121 1 PC Frequency converter UL assy packed

87 425115 1 PC Fuse autom. UL 32A

88 425123 1 PC Contactor WS15 FU output

91 425113 1 PC Rating plate control unit UL

92 356719 8 PC Rotary shaft seal ASL40X55X7NBR

93 356720 8 PC Grooved ball bearing 30X55X13-2RS6006-2RS

95 2053619 1 PC Adapter CONTROL OLD to NEW

96 2053850 1 PC Adapter CONTROL NEW to OLD

97 425112 1 PC Rating plate drive unit UL

98 2092345 2 PC Roller bearing block WS15 motor

99 359756 1 PC Hollow shaft

100 359770 1 PC Hollow shaft

102 356944 2 PC Lever

103 2053851 1 PC Line filter SCHAFFNER FN3558P-42-47



Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  1/30/2014 8:11 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
424830 7 577848 Wire saw DS WS15 480V UL CSA assy  30.01.2014 USD / 350441 / * / G 4/9
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

104 359771 2 PC Side plate right

105 356954 1 PC Time lag relay

106 356916 1 PC Attachment

107 356915 1 PC Switch assy

108 428221 1 PC Electronics UL/EU assy packed

109 356953 1 PC Cover cap KABEL MOTOR

110 428222 1 PC Connector housing kpl assy packed

112 356919 1 PC Emergency off switch assy

113 356946 1 PC Lamp assy

114 356918 2 PC Feeler red assy

115 356917 2 PC Feeler GRUEN assy

116 342307 1 PC Potentiometer KNOPF

117 342306 1 PC Potentiometer

118 425126 1 PC Amperemeter UL assy packed

119 356914 2 PC Switch assy

120 356920 2 PC Magnet

121 356949 1 PC Pneumatic accessories

122 356951 4 PC Air relief valve assy

123 356691 1 PC Valve

124 356948 1 PC Sealing cap

125 358465 1 PC Guard plate vorne links

126 356923 1 PC Guard plate front

127 342300 1 PC Breech HAUBE



Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  1/30/2014 8:11 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
424830 7 577848 Wire saw DS WS15 480V UL CSA assy  30.01.2014 USD / 350441 / * / G 5/9
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

128 342301 1 PC Breech GERAET assy

129 356952 1 PC Seal FRONTTUERE

130 358156 5 PC Spacing sleeve

131 357415 2 PC Casing Ventilator

132 357414 1 PC Connector housing assy

133 358289 5 PC Coupler

134 357152 1 PC Manometer

135 428257 1 PC Display PCB UL/EU assy packed

136 358292 1 PC Glass tube

138 358321 2 PC Circlip

139 358293 2 PC Wedge

140 358294 8 PC Screw M10X35 spec.

141 358295 12 PC Screw M6X30 spec.

142 358296 12 PC Spring lock washer 6

143 358297 8 PC Spring lock washer 10

144 339315 2 PC Drive wheel DS-WSWD 280

146 358300 4 PC Ring

147 356700 5 PC Water supply

148 2053852 1 PC Cover plate MOTORS top

149 2053853 1 PC Frame cover plate HINTEN nietb.

151 358301 1 PC Adjusting spindle

152 358302 2 PC Breech

153 358280 1 PC Axle right



Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  1/30/2014 8:11 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
424830 7 577848 Wire saw DS WS15 480V UL CSA assy  30.01.2014 USD / 350441 / * / G 6/9
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

154 358281 1 PC Axle left

155 425116 1 PC Mains adapter assy packed

157 425128 1 PC Lid UL

158 358303 1 PC Locking bolt

159 356922 1 PC Protective cover

160 356921 1 PC Switch PNEUMATIK assy

161 425124 1 PC Connector housing

162 359398 1 PC Lever M10x45 assy

163 359399 1 PC Cylinder PNEUMATIK 885MM assy

164 359400 1 PC Cylinder PNEUMATIK 960MM assy

165 359401 1 PC Shaft L=885MM

166 359402 1 PC Shaft L=960MM

167 359403 2 PC Bearing block assy

168 359404 1 PC Thrust ring

169 359757 2 PC Clamping piece

170 359772 2 PC Side plate left

171 359761 20 PC Hex skt hd cap screw M5X8

172 359762 4 PC Disc spring 50X25.4X1.5

173 359763 4 PC Distance washer

174 359764 4 PC Threaded bolt

175 359765 2 PC Guard plate

176 359766 2 PC Guard plate

177 359941 1 PC Grease gun



Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  1/30/2014 8:11 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
424830 7 577848 Wire saw DS WS15 480V UL CSA assy  30.01.2014 USD / 350441 / * / G 7/9
  

 

Z-No Mat-No. Change Master Quantity Unit Description Specification Order Type Status

178 428223 1 PC Connector housing UL assy packed

179 428224 2 PC Distributor kpl assy packed

180 428225 2 PC Gasket set assy packed

181 2053854 1 PC Lubricating nipple Strip WS15

182 2055551 2 PC Motor housing end cap WS15 assy

183 2055474 2 PC Ball bearing WS15 motor end cap

184 356651 4 PC Split pin

185 2055475 4 PC Retaining clip WS15 lever

187 2051797 2 PC Drive wheel DSW-W 280 assy

188 2051931 2 PC Drive wheel DSW-W 280 servicing set

189 2051930 2 PC Guide wheel DSW-W 200 assy

190 2051934 2 PC Guide wheel DSW-W 200 servicing set

191 2051799 4 PC Return pulley DSW-W 280 assy

192 2051933 4 PC Return pulley DSW-W 280 servicing set

193 2051798 3 PC Return pulley DSW-W 200 assy

194 2051932 3 PC Return pulley DSW-W 200 servicing set

195 2082876 1 PC Hose Set WS 15 INNEN assy packed

196 2082877 1 PC Hose WS15 INNEN - 10m coil

197 2082833 1 PC Hose clamp WS 15 - 10 pcs set

815 312670 1 PC Grease RETIN.HD2 400GR

901 3994 1 PC Adhesive LOCTITE 243 50CCM

905 226402 1 PC Adhesive LOCTITE 518 50CCM
 



Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  1/30/2014 8:11 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
424830 7 577848 Wire saw DS WS15 480V UL CSA assy  30.01.2014 USD / 350441 / * / G 8/9
  

 

 



Gusty Taymans  Only for informational purpose, will not be replaced in case of changes Print Date:  1/30/2014 8:11 AM  

  

Spare Parts List
 

HILTI Aktiengesellschaft Schaan/FL
Hilti = registered trademark of Hilti Corp., LI-9494 Schaan,
Principality of Liechtenstein © 2009, Right of technical and
programme changes reserved, S.E. & O.

Mat-No. SPL-Index Change Master Description Valid at Drawing Page
424830 7 577848 Wire saw DS WS15 480V UL CSA assy  30.01.2014 USD / 350441 / * / G 9/9
  

 

 


